Group Quiz -  Finding Zeros in Polynomials, Analyzing End Results, Graphing Polynimials, Synthetic Division
Name of Group Members  _________________________________________________________________
If there are 3 zeros use all of them to graph and y intercept to graph. If there is only 1 zero use calculator to obtain graph.

1.     y = x3 + 2x2 – 9x – 18      

Show working synthetic division  below                                      Zero(s)  ____________________________
                                                                                                              Quick Graph   below   (you may use calculator)

Resultant quadratic         ______________                  Does this quadratic have imaginary roots   Yes   No  (Circle answer)
As   x ->  ∞   y ->    ________               As   x ->  - ∞   y ->   _______
2.     y = x3 + 4x2 + 11x + 14      

Show working synthetic division  below                                      Zero(s)  ____________________________
                                                                                                              Quick Graph   below   (you may use calculator)

Resultant quadratic         ______________                  Does this quadratic have imaginary roots   Yes   No  (Circle answer)

As   x ->  ∞   y ->    ________               As   x ->  - ∞   y ->   _______
3.     y =-x3 - 4x2 –x  + 6      

Show working synthetic division  below                                      Zero(s)  ____________________________
                                                                                                              Quick Graph   below   (you may use calculator)

Resultant quadratic         ______________                  Does this quadratic have imaginary roots   Yes   No  (Circle answer)

As   x ->  ∞   y ->    ________               As   x ->  - ∞   y ->   _______
4.     y = x2 + 4x + 5 
As   x ->  ∞   y ->    ________               As   x ->  - ∞   y ->   _______

5.     y = -x5 + 2x3 + 4x + 6

As   x ->  ∞   y ->    ________               As   x ->  - ∞   y ->   _______

6.     y = -x4 + 2x3 + 2x + 6

As   x ->  ∞   y ->    ________               As   x ->  - ∞   y ->   _______

7.  Even function will always have at least two roots          True          False

8.  Odd functions will always have at least one root            True         False
